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$@A@B:;. 23.456578 359:;<=>=8 ?3.15757.@ A530107> >B570;-/ 4 C03<C5 D 40D=0E70F . D;.4040F 

?;0603G0F 15=0601 «D>1B040H0 4>G::1>» . 65903.57=>B... "D=>704;570 D7.I57.5 ?0435I65770D=. ?;0604 

4 3,5-6 3>9 ?0 0=70J57.K G G07=30;K. 23.15757.5 6>778L 15=0604 MG0701.E755 L.1.E5DG0H0 15=06> 4 2,2 

3>9>. 

 !"#$%&$ '!(%): ?;060485 G:;<=:38, ?;060I03G>, A530107, 65903.57=>B.@ 
 

Summary. The results of Acenol-V pheromone use in the struggle against oriental moth and plum fruit moth 

by the method called «male vacuum» and disorientation are given. The decrease of fruits damageability in 3,5-6 

times towards the control is established. Using of that methods is more economical than the chemical one in 2,2 

times. 

Key words: fruit cultures, moth, pheromone, disorientation 

 

*%$+$,-$.  >D>I657.@ ?;06048L G:;<=:3 40 4;>I78L D:C=30?.G>L 'N, 4 E>D=70D=. 

D;.48 . ?53D.G>, 7>L06@=D@ 7> ?0C535I<5 4 D>7.=>370-0L3>778L 907>L G:303=>, E=0 =35C:-

5= D0C;K657.@ =35C04>7.F G07=30;.3:KO.L 03H>7.9>B.F 0L3>78 ?3.3068, 0H3>7.E.-

4>KO.L >DD03=.157= ?3.157@518L ?5D=.B.604. P=0= A>G= =35C:5= 3>93>C0=G. =>G0F D.D-

=518 9>O.=8 6>778L G:;<=:3, G0=03>@ C8 ?3. 48D0G0F MAA5G=.470D=. C8;> MG0;0H.E5DG. 

C590?>D70F 6;@ 0CQ5G=04 MG0D.D=518. / 6>7701 D;:E>5 ?53D?5G=.4781 7>?3>4;57.51 @4-

;@5=D@ .D?0;<904>7.5 A53010704, G0=0385 10H:= D7.9.=< 0CQ518 ?3.15757.@ ?5D=.B.-

604, @4;@@D< MAA5G=.4781 D356D=401 4 7.E=0I78L G0;.E5D=4>L ., 4 0=;.E.5 0= 0C8E78L 

.7D5G=.B.604, ?3>G=.E5DG. C59435678 6;@ E5;045G> . 0G3:I>KO5F D3568. 

/ D>6>L R0;<J0H0 *0E. A5301078 10H:= C8=< .D?0;<904>78 75 =0;<G0 6;@ A.=0D>-

7.=>370H0 107.=03.7H> . D.H7>;.9>B.. D30G04 ?3045657.@ 0C3>C0=0G, 70 . G>G D?0D0C 

C03<C8 15=06>1. «D>1B040H0 4>G::1>», 65903.57=>B... (5903.57=>B.@ G>G D>10D=0@=5;<-

70 3>93>C>=84>518F M;5157= 9>O.=8 3>D=57.F 0D704>7> 7> 7>3:J57.. 0;<A>G=0370F D4@-

9. 15I6: ?0;>1.. / 7>D=0@O55 4351@ D0453J5770 0E54.670 60G>9>7> 40910I70D=< .D-

?0;<904>7.@ M=0H0 15=06>, ?3.406@O5H0 G ?3560=43>O57.K 35>;.9>B.. D>1G>1. 4356.=5-

;@ 35?306:G=.470H0 ?0=57B.>;>. 

 

./0$12& - 3$2(+& -''!$+(%),-4. SCQ5G=>1. .DD;5604>7.@ @4;@K=D@ 4356.=5;. 

?53D.G> . D;.48: 40D=0E7>@ (Grapholitha (Cydia) molesta Basck.), D;.404>@ (Laspeyresia 

(Grapholita, Aspila) funebrana Fr.) ?;060I03G.. / 80-L H06>L ?30J;0H0 D=0;5=.@ ?30J;. 

.D?8=>7.@ A530107785 G0;<B> 4 C03<C5 D0 D;.4040F ?;060I03G0F [1]. 

-D?8=>7.@ ?30406.;.D< ?0 56.70F 15=06.G5, ?356;0I5770F /-,' [2], 4 D;.40401 

D>6: / --T.*+ D 7.9G0F E.D;5770D=<K 4356.=5;@ (?0435I65770D=< ?;0604 4 ?35686:-

O51 H06: 75 ?3548J>;> 20 %). 

'>945J.4>7.5 G0;5B 7> G>I605 653540 ?30406.;0D< 64>I68: ?53405 – 4 G07B5 >?35;@, 60 

7>E>;> ;5=> C>C0E5G 4356.=5;@, 4=0305 – ?5356 1>DD0481 ;5=01 C>C0E5G ;5=75F H5753>B... 

+0;.E5D=40 G0;5B 7> 653540 0?3565;@;0D< 4 9>4.D.10D=< 0= DL518 ?0D>6G. 65354<54, 70 .9 

3>DE5=> 24 H/H> 9> 06.7 ?3.51. SCO>@ 609> A530107> (657>B.;) D0D=>4;@;> 48 H/H>. P=>;0701 

D;:I.; :E>D=0G, H65 ?30406.;D@ 45D< G01?;5GD L.1.E5DG.L 0C3>C0=0G, > G07=30;51 – :E>D=0G 
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C59 0C3>C0=0G. / G>I601 4>3.>7=5 4845J.4>;.D< :E5=785 ;04:JG.. 

/ 6>;<75FJ51, 4 D4@9. D =51, E=0 A5301078 D;.4040F . 40D=0E70F ?;060I030G .15-

K= 0CO.F  G01?0757=78F D0D=>4 – D15D< B.D- . =3>7D.9015304 8-6065B57.;>B5=>=>, C8;0 

?3.7@=0 35J57.5 .D?0;<904>=< 6;@ 65903.57=>B.. D;.4040F ?;060I03G. D.7=5=.E5DG.F 

A530107 40D=0E70F ?;060I03G. – >B570;. /0910I70D=< .D?0;<904>7.@ M=0H0 ?35?>3>=> 

6;@ D7.I57.@ E.D;5770D=. D;.4040F ?;060I03G. . 9>157> .1 657>B.;> 0C5D?5E.4>5= 97>-

E.=5;<705 D7.I57.5 D=0.10D=. 15=06> 65903.57=>B... [3]. 

/ 7>D=0@O55 4351@ A530107 >B570;-/ J.30G0 .D?0;<9:5=D@ 7>1. ?30=.4 40D=0E70F 

?;060I03G. 7> ?53D.G5 6;@ D.H7>;.9>B.., :E5=> 6.7>1.G. 3>94.=.@ 4356.=5;@ ., 0670-

43515770, G>G 15=06 C03<C8 ?:=51 ?3.15757.@ «D>1B040H0 4>G::1>». 

(>778F 0?8= C8; ?3045657 4 ?53.06 2002-2010 HH. 7> 06701 .9 :E>D=G04 ?53D.G> 4 

?06D0C701 L09@FD=45 / --T.*+ «S?8=705 ?0;5» ?:=51 5I5H0670H0 4845J.4>7.@ 6 A5-

3010778L ;04:J5G =.?> «!7=3>G07-!» D 6.D?57D5301 >B570;-/. U04:JG. ?30D1>=3.4>-

;.D< 3>9 4 7565;K, 4G;>68J. 9>157@;.D< ?0 1535 9>H3@9757.@. 

/ 2012 H06: ,!S «V5;G040 !H30L.1» C8;0 ?356;0I570 ?3045D=. J.30G05 .D?8=>-

7.5 4 D>6>L ?53D.G> D?5B.A.E70H0 A530107> >B570;-/ 4 4.65 3-L =.?04 6.D?57D5304 (N2-

1, N2-2, >B570;-+) 15=0601 65903.57=>B... (;@ 0?8=> C8;. 48C3>78 64> 3>9;.E78L :E>-

D=G>, H65 G>I68F .9 4>3.>7=04 C8; .90;.304>7 63:H 0= 63:H>. 

 > ?53401 :E>D=G5 (0?8= 1) .D?0;<904>;.D< 4>3.>7=8: >B570;-N2-1; >B570;-N2-2 (D 

?07.I5770F 6090F A530107>); >B570;-+ (G0;<B>); G07=30;<. (.D?57D538 3>945J578 9 >?35;@. 

 > 4=0301 :E>D=G5 (0?8= 2) ?0D;5 0C3>C0=G. ?35?>3>=01 >4>7= 4845J578 28 >?35;@ 

6.D?57D538 >B570; N2-1 . >B570; N2-2. P=>;0701 D;:I.;> 2 G3>=7>@ 0C3>C0=G> ?35?>-

3>=01 >4>7= (27 1>3=> . 20 .K7@). +07=30;< – C59 0C3>C0=G.. /0 4D5L 4>3.>7=>L C8;. 48-

45J578 G07=30;<785 ;04:JG., G0=0385 ?30D1>=3.4>;.D< 06.7 3>9 4 5-7 675F. 

 

./'56+$,-$ 7$85!92)2(%. '59:;<=>=8 .D?0;<904>7.@ 657>B.;> . >B570;> 4 C03<C5 

D0 D;.4040F ?;060I03G0F ?356D=>4;578 4 =>C;. 1. . 2, .9 G0=038L D;56:5=, E=0 ?3. 7>3:-

J57.. 0;<A>G=0370F 03.57=>B.. 15I6: ?0;>1. 0=;04 C>C0E5G 4 ;04:JG>L 7> 0?8=78L 

:E>D=G>L C8; 359G0 D7.I57 4 D3>4757.. D G07=30;51 (60 43,2 %) ?3. 3>DL065 ?35?>3>=> 

657>B.; 48 H/H> (=>C;. 1). 

 

&>C;.B> 1 – '59:;<=>=8 ?3.15757.@ 657>B.;> 4 0?8=5 ?0 65903.57=>B.. D>1B04  

D;.4040F ?;060I03G. 

/>3.>7= 

+0;-40  

0=;04;5778L 

D>1B04, J=. 

(5903.57=>B.@ 

0=70D.=5;<70 

G07=30;@, % 

230B57= ?0-

435I657.@ 

?;0604 

*7.I57.5 ?0435I-

65770D=. :30I>@ 4 

%  

G G07=30;K 

1. 24 H/H> 182 79,0 2,08 34,2 

2. 48 H/H> 118 85,4 1,8 43,2 

3. P=>;07 422 – 1,6 – 

4. +07=30;< 562 – 3,0 – 

 

/ 6>;<75FJ51 9>157> A530107> 657>B.; 7> >B570;-/ ?0G>9>;>, E=0 ?3. 7.9G0F ?0-

?:;@B.. 4356.=5;@ (=>C;. 2) ?0435I65770D=< ?;0604 D;.48 C8;> 4 6 3>9 7.I5, E51 4 G07-

=30;5, . ?30B57= D7.I57.@ ?0435I65770D=. :30I>@ D0D=>4;@; 95,8 % [4]. 

&>G.1 0C3>901, ?06=4536.;>D< 40910I70D=< 9>1578 657>B.;> >B570;01. 23. .D-

?0;<904>7..  ?0D;5675H0 ?3. 70315 3>DL06> 18 H/H> C8;> 60D=.H7:=> 9>O.=> D;.48 7> 

:30475 ?3.15757.@ .7D5G=.B.604 [3, 4]. 

 > ?53D.G5 .D?0;<904>7.5 A530107> >B570;-/ 15=0601 «D>1B040H0 4>G::1>» ?0940-
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;.;0 9> 9 ;5= .D?0;<904>7.@ 7> 06701 . =01 I5 :E>D=G5 D7.9.=< E.D;5770D=< ?0?:;@B.. 

40D=0E70F ?;060I03G. 7> 41,6% (C8;0 48;04;570 C0;55 13 =8D. 0D0C5F C>C0E5G). S=15E5-

70, E=0 ?0435I65770D=< ?;0604 ?53D.G> D7.9.;>D< D 18-22 % 60 4,3-5 % ?3. 14,9 % 4 G07-

=30;5. S67>G0, ?3. 3 G3>=70F 0C3>C0=G5 ?5D=.B.601 ?0435I65770c=< ?;0604 C8;> 4 2-3 

3>9> 7.I5, 70 9>=3>=8 C8;. 4 75DG0;<G0 3>9 48J5 [5]. 

 

&>C;.B> 2 – '59:;<=>=8 ?3.15757.@ >B570;> 4 0?8=>L ?0 65903.57=>B.. D>1B04  

D;.4040F ?;060I03G. 

/>3.>7= 

+0;-40  

0=;04;5778L 

D>1B04, J=. 

(5903.57=>B.@ 

0=70D.=5;<70 

G07=30;@, % 

230B57=  

?0435I657.@ 

?;0604 

*7.I57.5  

?0435I65770D=. 

:30I>@  

4 % G G07=30;K 

1. 18 H/H> 250 90,0 0,1 95,8 

2. P=>;07 371 – 1,6 – 

3. +07=30;< 2512 – 6,2 – 

 

20;:E57785 359:;<=>=8 ?0;548L .D?8=>7.F =35L A031 A530107> >B570;-/ 4 C03<C5 

D 40D=0E70F ?;060I03G0F 15=0601 ?0;040F 65903.57=>B.. ?0G>9>;., E=0 :G>9>778F D?0-

D0C 0C;>6>5= 0?3565;57781 MAA5G=01. 

SD0C5770 M=0 7>H;@670 7> :E>D=G5, H65 4 =5E57.5 5 ;5= C8;> D7.I57> ?0?:;@B.@ 435-

6.=5;@ ?:=51 0670F 0C3>C0=G. ?5D=.B.601 D ?0D;56:KO.1 .D?0;<904>7.51 «D>1B040H0 

4>G::1>» (0?8= 2). 

/ 6>7701 D;:E>5 D356755 G0;.E5D=40 C>C0E5G 4 G07=30;5 9> 4351@ ?3045657.@ .D?8-

=>7.@ 75 ?3548J>;0 35 0D./;., > D3567.F :30457< D=5?57. ?0;040F 65903.57=>B.. 4356.=5-

;@ D0D=>4.; 99,1-95,0 % ?0 0=70J57.K G G07=30;K . 97,4-84,5 % G M=>;07: (=>C;. 3). 

 

&>C;.B> 3 – *3567.F :30457< D=5?57. ?0;040F 65903.57=>B.. 40D=0E70F ?;060I03G.  

7> ?53D.G5 

"E>D=0G 1 (0?8= I) "E>D=0G 2 (0?8= II) 
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S
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.
0
6

 :
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=.

 

/
 D
3
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7
51

, 
0
D.

/;
. 

(
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0
3
.
57
=>
B
.
@
 0
=-

7
0
D.
=5
;
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7
0

  

G
0
7
=3
0
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(
59
0
3
.
57
=>
B
.
@
 0
=-

7
0
D.
=5
;
<
7
0

  

M=
>;
0
7
>,

 %
 

!B570; N2-1 34 4,3 93,4 4 0,3 99,1 97,4 

!B570; N2-2 69 8,6 86,7 21 1,8 95,0 84,5 

!B570;-+ 31 3,9 94,0 – – – – 

P=>;07  

(L09 0C3>C0=G>) 
– – – 139 11,6 – – 

+07=30;< 519 64,9 – 420 35,0 – – 

 

 > ?53D.G5, H65 3>C0=8 ?0 C03<C5 D 40D=0E70F ?;060I03G0F ?3>G=.E5DG. 75 ?3040-

6.;.D<, D356755 G0;.E5D=40 0D0C5F 7> G07=30;<7:K ;04:JG: 9> D5907 D0D=>4.;0 64,9 

(0?8= 1). PAA5G= 65903.57=>B.. C8; 75DG0;<G0 7.I5, D0D=>4;@@ 4 D356751 93 %, > ?3. 

?07.I57701 D0653I>7.. 6.4. 4 6.D?57D535 – 75 C0;55 86,7 %. 

/ 6>7701 0?8=5 ?0435I657.5 ?;0604 3>775H0 D30G> D09354>7.@ (D03= +0;;.79) G0-
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;5C>;0D< 4 ?3565;>L 1,7-3,7-4,1 % ?3. 10,9 % 4 G07=30;5. SD704785 ?0435I657.@ C8;. 

0=15E578 7> ?0C5H>L – 0= 18 60 22 % ?3. 10,8 % 4 G07=30;5 (=>C;. 4). 

 > D03=5 D35675H0 D30G> D09354>7.@ ('56 W>457) D7.9.;0D< ?0435I657.5 ?0C5H04, 70 

:45;.E.;D@ ?30B57= ?0435I657.@ ?;0604 60 7,5-8,4-13,7 % ?3. 25,8 % 4 G07=30;5. 

/ 6>7701 0?8=5, :E.=84>@ 48D0G:K ?;0=70D=< ?0?:;@B.. 4356.=5;@, >B570; N2-2 D 

?07.I5770F 6090F 6.4. :D=:?>5= N2-1 4 D7.I57.. ?0435I657.@ ?;0604 . ?0 ?30B57=701: 

D7.I57.K ?0435I657.F ?0 0=70J57.K G G07=30;K (62,4-46,9 %) ?0 D3>4757.K D 1 . 3 4>-

3.>7=>1.. *;56:5= 0=15=.=<, E=0 4 4>3.>7=5 D G0;<B>1. :45;.E57.5 ?0435I65770D=. ?0-

C5H04 . ?;0604 60 8,4 % . 20 %, D00=45=D=45770, H0403.= 0 750CL06.10D=. 6045J.4>7.@ 

G0;5B, G0H6> 9>G>7E.4>5=D@ D09354>7.5 D3567.L D03=04 ('56 W>457). 

/ 0?8=5 2, H65 ?;0=70D=< ?0?:;@B.. 4356.=5;@ C8;> 7.I5 4 2 3>9>, :E5=8 ?30406.-

;.D< 7> D03=>L D35675H0 ('56 W>457) . ?09675H0 (/5=53>7) D30G04 D09354>7.@. / 6>7701 

D;:E>5 ?0435I657.5 ?;0604 4 1 . 2 4>3.>7=5 C8;0 7.I5 . D0D=>4.;0 1,2-2,6 %; ?0435I65-

7.5 ?0C5H04 7> :30475 7,2-14,4 % (=>C;. 5). 
 

&>C;.B> 4 – '59:;<=>=8 ?3.15757.@ 15=06> 65903.57=>B.. 4 C03<C5  

D 40D=0E70F ?;060I03G0F 7> ?0D>6G>L ?53D.G> (0?8= 1) 

2;068 20C5H. 

/>3.>7= *03= %  

?0435I657.@ 

D7.I57.5 ?0435I6.  

G G07=30;K, % 

%  

?0435I657.@ 

!B570; N2-1 
+0;;.79  

'56 W>457 

3,7 

7,5 

66,1 

70,9 

18,3 

8 

!B570; N2-2 
+0;;.79 

'56 W>457 

4,1 

13,7 

62,4 

46,9 

22 

9,5 

!B570; + 
+0;;.79 

'56 W>457 

1,7 

8,4 

84,4 

67,4 

15 

20 

+07=30;< 
+0;;.79 

'56 W>457 

10,9 

25,8 

– 

– 

40,8 

22 
 

&>C;.B> 5 – '59:;<=>=8 ?3.15757.@ 15=06> 65903.57=>B.. 4 C03<C5  

D 40D=0E70F ?;060I03G0F 7> ?53D.G5 (0?8= 2) 

2;068 20C5H. 

/>3.>7= *03= %  

?0435I-

657.@ 

D7.I57.5  

?0435I6.  

G G07=30;K, % 

D7.I57.5  

?0435I6.  

G M=>;07:, % 

%  

?0435I-

657.@ 

!B570; N2-1 
'56 W>457 

/5=53>7 

1,4 

1,2 

92,8 

94,8 

84,4 

– 

7,2 

9,5 

!B570; N2-2 
'56 W>457 

/5=53>7 

2,4 

2,6 

87,6 

88,7 

73,3 

– 

8,8 

14,4 

+07=30;< 
'56 W>457 

/5=53>7 

19,4 

23 

– 

– 

– 

– 

16,2 

22,4 

P=>;07  

(L09. 0C3>C0=G>) 
'56 W>457 9 53,6 – 12 

 

-D?0;<9:@ A530107 >B570;-/ G>G 15=06 C03<C8, 18 ?0;:E>51 75 =0;<G0 D7.I57.5 

?0435I65770D=. :30I>@ ?;060I03G>1., 70 . 0?3565;5778F MG0701.E5DG.F MAA5G=. &>G, 

15=06 65903.57=>B.. 7> ?53D.G5, ?0 D3>4757.K D 2 G3>=70F L.1.E5DG0F 0C3>C0=G0F, 4 2,2 

3>9> MG0701.E755, 75 9>H3@97@@ 0G3:I>KO:K D356: 0D=>=G>1. ?5D=.B.604 (=>C;. 6). 
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&>C;.B> 6 – PG0701.E5DG>@ MAA5G=.470D=< ?3.15757.@ 15=06>  

65903.57=>B.. 4 C03<C5 D 40D=0E70F ?;060I03G0F 7> ?53D.G5 

,>=3>=8 *=0.10D=< 3>C0=, 3:C./H> 

B/9/-,$ !C (5)!5(* ! 

,>3?;>=> 64:L J;>7H04O.G04 1 H> – 1,3 67@ × 480 × 2 1248,00 

,>3?;>=> =3>G=03.D=> 1 H> – 1,3 67@ × 638 829,4 
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